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1 Pohorelice A 1 1 3 1 1 2 4 1 14 7
2 Oldfichovice 2 4 1 5 4 1 9 10 36 17
3 Ublo A 4 6 2 2 3 8 1 11 37 18
4 Nova Dédina 12 2 11 3 2 10 3 7 50 27
5 Pohotelice B 7 3 6 13 5 6 14 2 56 29
6 Malenovice 6 10 11 4 6 12 2 4 55 32
7 Kvitkovice A 3 9 7 17 7 4 11 5 63 35
8 Napajedla 5 7 4 6 14 9 6 8 59 36
9 Prstné B 9 5 5 10 8 3 7 17 64 37
10 Pohotelice C 12 8 10 7 13 7 8 13 78 52
11 Ujezd 12 18 8 9 10 14 17 3 91 56
12 Ublo B 12 18 11 8 16 15 5 6 91 57
13 Spytihnév 12 18 11 12 12 5 10 16 96 62
14 Sarovy-Sala3 12 12 11 11 9 15 17 9 96 64
15 Prstné A 10 15 9 16 11 13 15 20 109 73
16 Louky 11 18 11 15 15 11 12 15 108 75
17 Ublo C 12 18 11 18 16 15 13 12 115 79
18 Sele3ovice 12 11 11 18 16 15 17 22 122 82
19 Kyselovice A 12 13 11 18 16 15 17 22 124 84
20 Provodov 12 18 11 18 16 15 17 14 121 85
20 Belov 12 18 11 14 16 15 17 21 124 85
20 Kvitkovice B 8 18 11 18 16 15 17 22 125 85
20 Rosténi 12 14 11 18 16 15 17 22 125 85
24 Kyselovice B 12 16 11 18 16 15 17 22 127 87
25 Karolin 12 17 11 18 16 15 17 22 128 88




25 Stary Hrozenkov 12 18 11 18 16 15 16 22 128 88
27 Zlutava 12 18 11 18 16 15 17 18 125 89
27 Kvasice 12 18 11 18 16 15 17 19 126 89




